4.1 - Solve Simple Equations Worksheet #2
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1. Solve
a)x—5=4 bym+8 =11 )y—-3=0 dh+2=6
X:LH-ﬁ Yy - H,.LZI\ %: 0*3 h:g-—&
’X.‘Q n = 2,
. Y= 3 h<y
2. Solve '
a)x+5=12 b)x—6=7 cAy+3=10 dy—4=2
Kz Vd-5 A =T7vC \3'- |0-3 (j: KXY
! i 47 46
3. Solve
Nx+7=12 bjn—-8=11 c)-5+y=-2 d)-9+h=-6
x =7 NV R n*-6+9
%ﬁs V):\q \313 h:?)
4. Solve
a)3x =12 b) 5y = 20 C]%———B d) -2k = 16
S . 30
x5 Y5 n= 4 K z _\_%
X = ) n:ay
3= k<-4
5. Solve
a) 4z = —24 b) = = —6 €) —6c = —42 d) —9u = 45
S h= -6(-5) - y=4s
Y h -G -9
: 220
2 - -( E =7 Us-5



6. Find the root of each equation

a)7x—4=10 b)7k +2 =16 cj-p+7= d)—-12g-33=0
104 Tx: Y T p “Rq 33
7%5“’{ k;\_‘{/ /_7 _ =
M ! P? NI
=
k=2 % - -1l
Xz 4
7. Solve
a)k—4=-9 b) 6x = —30 c)§=z
k= -9+ e 32 - ()
C { ~
k = -
6 A= - (i:ﬂ-{
d)2y-7=9 e)—3w—1=14 f)2q —9 = —13
ZL\:yﬂm 3wz 15 ;)?: -y
\Ww = 1S .
i = o
)\ W= o - -
Y3 5 g:-2
4%
8. Solve
a)p+9=-2 b) —5x = 35 c)%=—8
Pz-;l—? K< 2'_65 uz 'ﬂq)
P‘\\ z -
Y Yz -3
d) 6r + 3 = 33 e)10c — 6 = —16 f)-3v+6=-9
(r <30 0¢=-10 By 25
< 20 _ -\ - -5
g C/, -ig ~ %—
r=5 C=-)\



9. At a bake sale, pies cost $7 each. One customer buys $84 worth of pies

a) Write an equation to model the number of pies the customer bought.
=T1p
b) Solve the equation.
=2
e
=

pery

12. Solve each equation. Express fraction answers in lowest terms,

a)2k—7=-8

b)3x+8=2
Q\K’-'\ Ax=-6
k- -\ = ’_6,
R 3
SR
c)4dm—6=12 d)-9u+8 =23
Ym=1% “Tu=1%
- 1_{{ u = ,\_%
m- L u=-5
| 3

13. Solve each equation. Express fraction answers in lowest terms.

a) 8r —2 = —15 b)—10h—6=—§

(%0 - 1(%3,_ ‘\6(21) 5(tl0\/\\« 5(@ : 6(-}%‘>
\C ¢ B R

<0 -50n-30 = -
o = = -50W = A%
Cy n= "%
0L 50
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Answers:

4.1 Solve Simple Equations, pages 186195

1.3)x=9 bym=3 gy=3 dyh=4
2 adx=7 b)x =13 Qy=17 dy=8
3. 8}x=5 byn=19 Ogy=23 dh=23
4, a)x =4 b)y=4 n=24 d k=-8
5. a)z = -6 b) h = 30 e=7 d)u= -5
6 a)x=2 bk=2 ¢p=7 d)g=—l}
7. 3)k=-5 bjx=-5 clg=14
Ndy=8 S)w=-5 fg=-2
) 8)p=-11 b)x=-7 cju=-32
_ dr=5 @dc= -1 fHhvr=5
9. The variable used max vary.
a)7p =84 b)12pies
10. The variable used may vary.
a8) 50f = 700 b) 14 jerseys
L Swep Explanation
Ix-8=7 Glven equation
Ix-8+8=7+86 |Add 8 to both sides,
Ix=15 , Simplify by adding Integers.
=12 |oivide both sides by 3.
x=5 Divide Integers to glve the
solution for x.
o - = .
12. a) k > b) x 2 &) m '3 d) u A
=27 =11
13. a) r 16 b) h 25




